110

(10 points)

4. Prove that the zonally averaged, poleward eddy
flux of geopotential is identically equal to zero
(10 points)
5. Give an interpretation of the terms in the expres-

in quasi-geostrophic scaling.

sion

components, respectively, the brackets operator [( )]
represents a zonal average and the overbar represents
(15 points)
6. Briefly describe four different approaches to infer-

a time average.

ring the mean meridional circulations on the basis

of observations. Mention the main limitations of

[uvl=Tu] [vI+[ul [vI’+[u*v*] each. (20 points)
where u and v are the zonal and meridional wind
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